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Note: This question paper contains t\\,o parts A and B.
Part A is compulsory u hich earries l5 marks. An'wer aU questions in Parr A.; ' ' i'*t B consisti of 
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Units. Artslver arly one full question from each unit.

Each question carries 10 marks and ma-y have a, b, c as sub qr-restrons.
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I.aj" Write short notes'on interfaces. t2l " '' I '

b) Explain the characteristics of twisted pair cable. t3l
c) What is the difference between router and gateway? 12)
d) What is meant by collision free protocols? t3l

:-... e). ,.,,I,-v{entionthe.designissuesof.networklayer.: .: , :, ,,lZl :;...'f).,.',.Differencebehveetrconnectionlessatrdconnection,orientednehd,orkS't3]
g) Explain about CIDR l2l
h) Explain the functions of Tlansport layer. t3l
i) Explain about TELNET. l2l
j)... 

..Wrire 
the application layer paradigms. t3l

2.a) Explain the functions of various layers in ISO-OSI reference modei.
b) Explain the term sliding rvindow. Also illustrate and explain the operation of selective

OR
3.a) Discuss about unguided transmission media.
b) What are the different types of emor detection rnethods/ Explain the CRC error detecrion

technique using generator polynomial xa+x3+1 and data 11100011. t5+51

4.a) Explain the operarion of source Routing Bridges.
b) Explain the working of CSMA/CD. l5+.sl

OR
5.a) Discuss in bnef the MAC frame structure for IEE,E 802.3
b) Explain in detail rhe operarion of pure ALOHA and slotted ALOHA. t5+51

b) Give the general principles of various congestion control algorithm. [5+5]
OR

7. What is Congestion control? How it is implemented in Network Layer? What is the role of
Choke packet in managing congestion? l10l
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Explain the error control mechanism in transport layer.

Fxplain about,Reverse Address Resolution Proiqcol. ,[5+51 ' t',

OR
How are connection estabhshment and connection release managed at the transport layer'?

Explain.
With a neat diagram explain the IPv6 header format.

Compare and Contrast ihe UDP header and the TCP header

Explain the client server lttodel.
OR

What is Electronic mail? Explain the two scenarios of architecture of E-Mail.
Explain the TCP service rnodel.

[5+5]
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